
Answer on Question#39892 – Math - Geometry 

Question. 

If the chords of a circle are 12cm and 6cm and the distance between them is 3cm. Find the 

radius of the circle. 

 

We have: 𝐴𝐶 = 12/2 = 6, 𝐵𝐷 = 6/2 = 3, 𝐶𝐷 = 3, 𝑂𝐴 = 𝑂𝐵 = 𝑟. 

Solution. 

Let  𝑂𝐶 = 𝑥,  then 𝑂𝐷 = 𝑥 + 𝐶𝐷 = 𝑥 + 3. 

From right triangle OAC:  𝑂𝐴2 = 𝐴𝐶2 + 𝑂𝐶2 →   𝑟2 = 36 + 𝑥2. 

From right triangle OBD:  𝑂𝐵2 = 𝐵𝐷2 + 𝑂𝐷2 →   𝑟2 = 9 + (𝑥 + 3)2. 

So,  36 + 𝑥2 = 9 + (𝑥 + 3)2 →  36 + 𝑥2 = 9 + 𝑥2 + 6𝑥 + 9 → 𝑥 = 3, 

 𝑟2 = 36 + 𝑥2 = 36 + 9 = 45 →    𝑟 = √45 = 3√5 . 
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Answer:   𝒓 = √𝟒𝟓 = 𝟑√𝟓 𝒄𝒎 ≈ 𝟔. 𝟕𝟏 𝒄𝒎. 
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